
   

 
   

  

               
                   
             
                   
                   
                   
             
 



     

              
                 
               

    

      

    

                
              
                
                 
   

Res1=0
while Res1<=0
     Res1=input('First resistance: ');
end
MyWord='blah'
while ~(strcmp(MyWord, 'series') | strcmp(MyWord, 'parallel'))
     MyWord=input('Connection: series or parallel: ', 's');
end
Res2=0
while Res2<=0
     Res2=input('Second resistance: ');
end



  
    

       

                 
                 
                
           

                 
                
                   
                   



   

   

   

   

   

   

   

   

   

   

   

                

fid = fopen('MyTable.out', 'w')
for k=0:5:355
     angle = k * pi / 180;
     fprintf(fid, '%3.0f^%7.4f^%7.4f', k, cos(angle), sin(angle))
     if k==90 | k==270
          fprintf('^^Infinity\n')
     else
          fprintf(fid, '^%9.4f\n', tan(angle))
     end
end
fclose(fid)

% Note, for Matlab 7 instead of converting the
% angle to radians, cosd, sind, and tand may be used
% In this case, the question tand(k)==inf is allowed



  
    

     

                
        

               
        

  

                 
                 
                
              
               
          

roots([1 0 -19 -30])   %OR  
y=inline('x.^3-19*x-30', 'x'); fzero(y, 10) %OR
fzero('x.^3-19*x-30', 10)

Root at x=5.000
Stopped after 5 iterations due to f tolerance on line 6 of .00011
Final x tolerance therefore .00269 from line 5
Bad initial guess is wherever f' = 0, so (3x^2-19)=0 or f=+/- sqrt(19/3)

f(x) = x^3 - 19 x - 30
f'(x) = 3x^2 - 19



  
    

    

        

 

 

   





        





   





   



        



    



   



        

 





 



  



     



     

p:1 q:9 c3:0
p:5 q:8 c3:1
p:9 q:7 c3:2
p:13 q:9 c3:4
p:17 q:8 c3:5
P:17 Q:8 C3:5

2 2
2 4
3 3
3 5
4 4

2 2
4 3
7 4
11 5

3 3
1 4
4 8



  
    

     

                   
          

               
               
                
              
               
              
                
              

           

   

 



    

 



     

 



   

 

 



     

if nargin==0
    fprintf('No Inputs\n')
    CountOut = 0;
elseif nargin==1
    CountOut = sum(sum(QR>0));
elseif nargin==2
    CountOut = sum(sum(QR==X));
else
    CountOut = sum(sum(QR>=X & QR<=Y));
end

% Note: instead of sum(sum()), 
% length(find()) may be used
% length() does not work alone, however


